Description MA Iltem Number

1010 x 300 mm 61842116 | 2

1010 x 300 mm 61842117 | 2

55 x 220 mm 610630510631 3

145x35x35 8052777 | 2

90XA5x40 610621761062,

MVBF M6x25 8008566 2 HAGS ?{;%éb%@m
@6,4x14x1,5 mm 326016 2 www-hogs.com
M6M -8 M6 1SO 7042 8042808 2 Roof

Cap 6 6,521 mm ?206015890501) > || MASW34616

Cover M6, @15x10mm ?206015890512) 2 1 ( 4)

Screw Duro-PT 5x10 mm 312230 | 16 TeKR®>[TB [2015-09-30 |2




NR. [Description MA Item Number | Qty

6 [1740 x 1160 mm 8048218 | 1

7 1740 x 1160 mm 8048228 | 1

8 |MVBF M6x25 8008566 4 HAGS 3;;63(3333%EDEN
9 |@6,4x14x1,5 mm 326016 4 waw.hags.com
10 |M6M -8 M6 ISO 7042 8042808 | 4 || Roof

11 |Cap 6 6,521 mm ?206%5890501) + || MASW34616

12 |Cover M6, @15x10mm go0oos2 | 4 2(4)

13 [DISTANCE 6 @21x27x2,5 261802 4 TeKAE>([TB | 2015-09-30 |2




NR. |Description MA Item Number | Qty

8 |MVBF M6x25 8008566 8

9 |06,4x14x1,5 mm 326016 8

10 |MBM -8 M6 ISO 7042 8042808 | 8 HAGS A
11 |Cap 6 @6,5x21 mm B009To1 8 wniw hags.com

(261800)

12 |Cover M6, @15x10mm A | 8 Roof

13 |DISTANCE 6 @21x27x2,5 261802 8 MASW34616

15 |6 16/7 x 3 mm 8035290 | 6 || 3(4)

16 [TKFT 6x50 mm (8008653) | g TeKIR®>[TB [2015-09-30 |2

311102




Steel post

NR. |Description MA Item Number | Qty

8 |MVBF M6x25 8008566 8

9 [06,4x14x1,5 mm 326016 14 HAGS Egiegéssgggam
10 |M6M -8 M6 ISO 7042 8042808 8 www.hags.com
11 |Cap 6 @6,5x21 mm ?206015890501) 14 || Roof

12 |Cover M6, @15x10mm (8206015890512) 2 || MASW34616

13 |DISTANCE 6 @21x27x2,5 261802 8 4(4)

17 |RXS 6,3x32 mm 312573 TeKRE>|TB [2015-09-30 |2




	Sheet1
	Drawing View1
	Detail View A (1 : 4)
	Detail View C (1 : 5)
	Detail View D (1 : 4)

	Sheet3
	Drawing View22
	Drawing View24
	Detail View E (1 : 3)
	Drawing View43
	Drawing View47
	Section View T-T

	Sheet2
	Drawing View10
	Drawing View11
	Detail View V (1 : 3)

	Sheet4
	Drawing View51
	Detail View U (1 : 3)
	Drawing View53


